Set -2

Unique Paper Code: 22415202 _OC

Name of Course: B.COM H

Name of Paper: Investing in Stock Markets
Semester: 11

Duration: 03 Hours

Maximum M arks: 75 Marks

Instructions for Candidates:
1. Attempt any four questions.
2. All questions carry equal marks.
3. Use of Simple Calculator is allowed.

1. What do you understand by the term investment and what objectives should be kept in
mind while investing in securities market? (18.75)

2. Explain in detail various types of orders which can be placed through brokers by the
investor who wants to transact in shares.
(18.75)

3. The returns (%) on securities of Tinku Ltd. and Minku Ltd. under different situations are
given below:

State of the Probg:oility Possible Returns
Market Occurrence | Tinku Ltd. Minku Ltd.
Bear 2 12 17
Normal 3 17 20
Bull .5 37 22
Find the return and risk associated with both the securities and which security should an
investor choose and why? (18.75)

4. Calculate the EPS and P/E Ratio:

Sales revenue 0
10,00,00,000
Net profits after taxes 1 40,00,000
Equity share capital divided in to shares of | [12,00,00,000
Rs.10 each
Current market price of the share 50
(18.75)
5.What do you mean by fundamental analysis? Explain in detail the tools used for
fundamental analysis for a company.
(18.75)
6. Calculate the NAV using following data on 01-01-2020:
Equity and bonds 1 55,00,000
Cash and treasury bills J 10,00,000
Management fee payable '11,00,000
Number of units outstanding 50,000




Number of offices 6

Number of fund managers 3

Ranking of the MF in India 5

(18.75)
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1. |rafer fAaer & 319 1 FAsd § 3R 9fasfa aoR & @9 & @7
el 3T &l AT H [T ATRT? (18.75)

2. AffesT YR & 3T & I H FEIR @ IaA¢ S TAdHT GarT gerredl &
ATETH T W ST Tohd & S RRT F eiesd 6T I8d 8 (18.75)

3. faffesr aRfEufaal # e fafAes 3 A fafAes & gidegfoar «w
Reat(%) i fear = &

IR & Rafa geadl T FHTGAT genfaa Rea
&g for. e o

SIEE 2 12 17

TTHTT 3 17 20

EJ)(—,{ .5 37 22
art gfastfodl & S5 gfawe 3 @A &1 gar e iR et & wla @
&t efoll =T 3R F4i? (18.75)

4. $HTH(EPS) 3R W/S(P/E) JHeTdTdl I IO

Tehr Torea 10,00,00,000

;
U & dI¢ YE ATH @ 40,00,000

sfFadr R ISl STHTRT 10 TI 2,00,00,000




e & AL H

A I IAAT SR Hed

50

(18.75)

5. Hifle [IQIYUT & 39 FIT JHSTT £7U0h HUaT o o0 Hifelss TVOT &

forT 3uter fru S arel 3uaol S fAEAR & FHST|

(18.75)

6. 01-01-2020 .3 AT @d SeT T 3YBET Fh TATAI(NAV) T 0T Y

sfgacr 3R @1 @ 55,00,000
e 3R oy foer 10,00,000
Jet ST Yoeh 1,00,000
ShIAT ShISAT hl T&AT 50,000
FTATedl T TEAT 6

HS AT I F&AT 3

IRT H THUTH(MF) Fr IfFeT 5t

(18.75)
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SET 2

1 22411202_0OC

: Corporate Laws

: B.Com. (H) - CBCS
1

: 3 hours

1 75 Marks

Instructions for Candidates

Attempt any four questions. All questions carry equal marks.

What is an illegal association of persons? What are its consequences?

Is it correct that a company can be registered with limited liability without the word ‘limited’ in its
name? If yes, which type of company is allowed to do so under the Companies Act, 20137

X was an officer of ABC Limited. His appointment condition was that he shall not during his service or
afterwards entice the customers of this company. He left the company and after sometime formed a
company to carry on his own business that enticed the customers of ABC Limited. When ABC Limited
came to know about this, it wanted to sue X. You as a legal expert advice ABC Limited.

Explain the formation and registration of producer company.

What is forfeiture of shares? Distinguish between forfeiture and surrender of shares.

The promoter of a proposed computer manufacturing company entered into a contract with X for
purchase of machinery for the company. After incorporation the company does not want to proceed
with the contract. Can the company back out from the contract?

What is Memorandum of Association? State the provisions of Companies Act 2013 relating to
alteration in object clause of the company.

Can a company purchase its own shares? How and under what conditions?

Mr. A purchased 500 shares from Mr. B of XYZ Limited. Later on he came to know that the prospectus
of the company contained some wrong statement. What remedies are available to Mr. A against the
company? Will the position be different if not Mr. A but Mr. B to whom the shares were allotted by
the company files the suit against the company?

Who is a director? State the circumstances under which director shall vacate his office.
"One person cannot form the quorum for a General Meeting of a company". Comment.
What are functions of the 'audit committee' of board of directors of a company?

Write a note on 'voting by electronic means'.

Explain the term books of account and discuss the provisions under the Companies Act 2013 regarding
the maintenance of books of account.

At an Annual General Meeting of XYZ Limited the shareholders of the company unanimously resolved
for the payment of dividend @ 10% to the equity shareholders of the company as the board of
directors did not recommend any dividend. Is the unanimous resolution passed by the shareholders
stands valid? Discuss.

Explain the salient features of the Depositories Act 1996.

What are the consequences of winding up order made by the Tribunal under the Companies Act
20137

Discuss the provisions relating to constitution of National Company Law Tribunal.
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Instructions for Candidates
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1. =RAT /T e |9 FAT g2 THH TLOTH FAT BId 52

FT I8 Aar g o FGFeT FaAr &1 3 A ° i aex F famr oft forfafes AT &
AT 9T Gstiga AT ST "har g2 I gh, av dadr fa=aw, 2013 % dga e yEre i
FOAAT HT UAT FA 0 AqAT 82

TF FARE X, ' ABC [oifees’ &7 afgwrdt om &l e &t o of & ag o9+t gar *
T AT 912 H TH FHOAT 6 ATgdl Wl Agl JATUIAT SO FHOT BIE & T Fg 997 18
AT GE F FAAME AA & T TFH FAAr aqare S+ ABC fofwes' & umgai &
JATATI @ ABC Toif¥ies &1 =6 I & 9a1 =«@0, @0 98 X I¥ THaAT HAT ATgd I AT

TF FAT 90U F d 9w ABC forfeiees &1 #1 gog
2. Futar &9y * oA oY usfiEwor &Y ghRaT @ =TT #wR)

QATT AT AT FAT 2 AL W Tedl AT FHIT F A AL TIL HI

UF gEqTad weger A FuEr F oyHieT T dudr & oo e ft wiw F oo X w
qIT TF qad A e F e Fuel e kAT AN ggAT d9i Argdr gl
FOAT Aqad H dI g Tl g?

3. NS A% UHIHUIA FAT 82 FIAT & IgeF @< # IRaqqd o Farted Ha-r fafaad
2013 % YTALTHI FT Iooid FLl

FAT FIT HOAT A9 I T UG qohdl g2 w9 eie o aRfEufaat #2

e A 9 XYZ forfies & ffieer B & 500 99X @0c| 9% § 32 9ar =«r1 o F997 &
TEFed § Fg Tad aa @A @ oAn e U oF a F9|r 6 feers geenr a5 ae
F A A IAT ANE g2 X W U &t a9 W B, ’ig #991 T 9aY arated

[ERUR LD e i T e 1 o 2t M R R S B T -t i e A B R N o R B R E i

2?

4, 9= (FOAT F) FIF AT 82 I TREACAT FT Ioo@ F oA dgd Haers u«r
9% GTeAl Fwear gl
R v Tl R 1 I e 2 W 1 2 e - O O L 0 e o I - AT o o e




DI e O - o O ot 2 M e e R D e M ol 2 B 1 O s
5. ToEEiNE WIETH ¥ waE w s froqfy forfrm)

Tel-GTd il ATEAT FL AT TGI-GTd 6 T@L@TF 6 gag § FU«T Jra«=aw 2013 %
AL 9¢ FAT AT

XYz fofaes &t % arfts " 9% H FUAT & QIR F AT F FHOAAT 6 Sfdhel
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6. "femmmT afafam 1996" it e fasrwarst it ==T #)
FodT AfaHaw 2013 % dga fesgaer g0 fFu U 9w areer & afRomH T g2 TY Hi
FIAA FAAT Al fosgAer F oA F HEtOd V@™ 9% T4l Hwi)
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Name of the Paper : Goods and Service Tax and Customs L aw
Name of the Course : B.Com (H) CBCS

Semester : Semester VI

Duration : 3 hours

Maximum Marks : 75 Marks

Note: Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.

Attempt any four questions out of six questions. All questions carry equal marks

Question 1.

What is the meaning of the term “Supply” under section 7 (1) of CGST Act.

What are the activities which are treated as supply under Schedule 1, even if consideration is
absent?

Question 2.
Explain the provisions under section 12 of CGST Act with regard to determination of time of
supply of goods.

Question 3.
What is the Reverse Charge Mechanism? When is Reverse Charge Mechanism applicable
under section 9(3) and 9(4) of CGST Act?

Question 4.

PQR Co., apartnership firm ,is in the business of manufacture of kitchen appliancesin
Maharashtra. It submits the following information pertaining to March 2021:

1) Input Tax Credit balance in Electronic Credit Ledger ason March 1,2021
a) IGST —Rs.1,00,000
b) CGST-Rs.47,500
c) SGST-Rs.46,750

2) Purchases (i.e. Inward supply or goods/services for March 2021)
a) Supply of raw material received from X Ltd. Delhi ( Taxable value of
supply-Rs.25,000+GST @ 12%)-28,000



b) Supply of raw material received fromY Ltd. Mumbai ( Taxable value of
supply-Rs.50,000+GST @ 5%)-2,500

¢) Rent of Mumbai office paid to Z Ltd. Bangalore ( Taxable value of
supply-Rs.15,000+GST @ 18%)-17,750

d) Rent of Mumbai factory paid to A Ltd. Nagpur ( Taxable value of supply-
Rs.45,000+GST @ 18%)-53,050

e) Packing material received from B Ltd. Chennai ( Taxable value of supply-
Rs.5,000+GST @ 18%)-5,900

f) Consultancy fee paid to alocal Chartered Accountant ( Taxable value of
supply-Rs.2,500+GST @ 18%)-2,950

3) Sales (i.e. Outward supply or goods/services for March 2021)
g) 1000 units supplied to C Ltd., New Delhi ( Taxable value of supply-
Rs.2,50,000+GST @ 18%)-2,95,000
h) 6000 units supplied to D Ltd., Mumbai ( Taxable value of supply before
10% discount-Rs.17,50,000+GST @ 18%)-18,58,500

Compute the amount of GST payable through Electronic Cash Ledger for March
2021, giving the breakup of CGST,SGST/UTGST and IGST. Assume that all the
conditions for availing Input Tax Credit are satisfied. However, 50% consultancy fee
is utilized for personal benefits of P, one of the partners of the firm.

Question 5.

Who is liable for registration under GST under section 22 of CGST Act? Determine whether
Mr. Z, who is a dealer in Andhra Pradesh dealing with Intra State supply of goods and
services and has place of business in India is required to register under GST on the basis of
the following information furnished by him for the financial year 2019-20:

1) Sale of taxable goods by Head Office located in Chennai for Rs. 2,00,000
2) Supply of taxable services by Branch office at Bengaluru for Rs. 1,00,000
3) Supply of goods exempted from GST Rs. 20,000

4) Export of goods and services for Rs. 4,00,000

5) Sale of goods acting as agent on behalf of principal for Rs. 30,00,000

Question 6.

Mr. A of Delhi imported 50 units of a product from a company of USA at $ 500 per unit. The
following information is also given:

1) Transportation charges from USA to Indian Port $ 200.

2) Transit insurance premium $ 50.

3) Packing charges $ 20 per unit

4) 5% commission on selling price to agent in India of the USA Company.
5) Transportation expenses from Indian port to Delhi Rs. 5,000.

6) Octroi paid in Delhi Rs. 4,000.



Compute Customs duty payable if:

a) Basic Customs Duty is 10%.

b) Social Welfare Surcharge is 10%.

¢) GST onthisproduct inIndiais 18%.
d) Therate of exchange is 1$ = Rs. 62
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Instructions:

1) This paper contains six questions in total, attempt any four questions.
2) All questions carry equal marks.

Q1 a) Mr. Ram has divided %35,000 into three investments. Part of the money is invested in
fixed deposit with an annual rate of interest of 6%, part in 7% annual yield bonds, and the
remainder in a business. In 2020, when he lost 6% of the money that he invested in that
business, his net income from all the three investments was 2660. If he invested %3,000 more
in the business than in the fixed deposit, how much was invested in each? Use matrix method.

b) Suppose the inter-industry flow of the products of two industries is given as under:

Production Sector Consumption Sector Domestic Total
X Yy Demand Output

X 20 90 90 200

Y 30 15 105 150

Labour (hours) 50 30

)
i)
i)

iv)

Determine the technology matrix and test Simon-Hawkins conditions for the
viability of the system.

If the domestic demand changes to 144 and 72 units respectively, what should
be the gross output of each sector in order to meet the demands?

If the total labour available is 100 hours, is the solution feasible?

Find the total value added if the wage rate is X150.

Q2 A firm uses three machines in the manufacture of three products. Each unit of product A
requires 3 hours on machine I, 2 hours on machine Il and one hour on machine Ill. Each unit
of product B requires 4 hours on machine I, one hour on machine Il and 2 hours on machine
I11, while each unit of product C requires 2 hours on machine I, 3 hours on machine Il and 3



hours on machine I1l. The contribution margin of the three products is 215, ¥30 and 220 per
unit respectively. The machine hours available on three machines are 120, 80 and 150
respectively.

1) Formulate the above problem as a linear programming problem.

i) Obtain optimal solution to the problem by using the simplex method. Which of the
three products shall not be produced by the firm? Why?

iii)  Write the dual of the above problem.

iv) What are the shadow prices of the machine hours?

V) Is the optimal solution degenerate?

Q3 a) Suppose that x years from now, one investment plan will be generating profit at the rate
of R’ (X) = 100+ x? rupees per year, while a second plan will be generation profit at the rate
R’; (X) = 220 + 2X rupees per year.
1) For how many years will the second plan be the more profitable?
i) How much excess profit will you earn if you invest in the second plan instead
of the first plan for the period of time in part (i).

b) A production function is given by Q = 24L*3K*? where L are units of labour and K units
of capital.

)} Find the behaviour of the marginal product of each factor.

i) What is the nature of returns to scale.

iii) Is the total output exhausted if each factor is paid a price equal to its marginal
product?

c) A bicycle manufacturer buys 2500 tyres a year from a distributor. The ordering fee is 220
per shipment plus a %9 insurance charge for each tyre ordered. The storage cost is 310 per
tyre per year. Suppose that the tyres are used at a constant rate throughout the year and
that each shipment arrives just as the preceding shipment is being used up. Find the
number of tyres that the manufacturer should order each time to minimize the total
inventory cost.

Q4 a) Suppose that the demand equation for a certain commodity is x = a/p™ where a and m
are positive constants. Show that the elasticity of demand is equal to m for all values of p

b) The demand functions for two products are
p1:12-2X1 p2:20-X2
Where P;and P, are the respective prices for each product and x; and X, are the respective
amounts of each sold. Suppose the joint cost function is:
C = X12 + 2X1Xp + 2X7°

Find the revenue function and the profit function. Determine the number of units and
price
of the two products that will maximise profit. What is the maximum profit?



c) ABC company wants to buy an energy-saving machine which will reduce its
consumption of fuel. The machine will cost ¥32,000. It is estimated that saving from
using the machine will be at a rate of S (t) rupees per year, where S (t) = 20,000 e™*" and
t equals time measured in years. Determine how long it will take for the firm to recover
the cost of the machine.

Q5 a) Mr. X borrowed %15,00,000 from bank and decided to repay it by equal quarterly
instalments over a period of 5 years. The bank charges interest at 6% p.a. compounded
quarterly. Calculate the amount of quarterly instalment. Also find the principal contained in
5" instalment.

b) Find the amount that an investor will receive after investing 215,000 for 7 years when the
rate of interest is 6% p.a. compounded quarterly for first 3 years, 7% effective for next 2
years and 7.5% p.a. compounded continuously thereafter. Find the excess or shortage of
fund/amount if he requires 323,000 for purchasing a machine after 7 years.

c) A sinking fund is created for redemption of debentures of X1,50,000 at the end of 12
years. How much money should be provided out of profits at the end of each quarter for
the sinking fund, if the investment can earn interest at 4.5% p.a. compounded quarterly?

Q6 a) A firm has available two kinds of fruit juices (pineapple and orange juice). These are
mixed and the two types of mixtures are obtained which are sold as soft drinks A and B. 1 tin
of A needs 4 litres of pineapple juice and 1 litre of orange juice. 1 tin of B needs 2 litres of
pineapple and 3 litres of orange juice. The firm has available only 46 litres of pineapple juice
and 24 litres of orange juice. Each tin of A and B is sold at a profit of %4 and %3 respectively.
How many tins of A and B should the firm produce to maximize profit? Formulate the
problem as a Linear Programming Problem and solve it by graphic method.

b) The demand equation for a monopolist is p = 200 — 3x, and the cost function is C(x) = 75
+80x — x°,
i) Determine the level of output and the corresponding price that maximize the profit.
ii) If the government imposes a tax of X t per unit. Determine the new output and the
price that maximizes the monopolist’s profit.
iii) Determine the value of t that will maximize the tax revenue and the total tax revenue

received by the government.



Unique Paper Code 1 22411402_0OC

Name of the Paper : Business Mathematics
Name of the Course : B.Com (H) CBCS
Semester A/

Duration : 3 hours

Maximum Marks : 75 Marks

Instructions:

1) This paper contains six questions in total, attempt any four questions.
2) All questions carry equal marks.

T.1 (1) 7 7 T AT 35,000 T FT AT TR F 90 e &7 Faar Far g1 99 1
f2eaT 6 wiaera arfis sarer it 22 % a7y e Ruifce #, 7 yfaea arfvs fiee o= ¥,
e aw fReaT uF ea™ #) 99 99 2020 #, IH 6 ATAAT IH G FT THAT gl ST 367
T § fAaer o o, av =1 [Fere § IHehT 903 9T < 660 ff1 Ffw 36+ e Ruifse
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At fater 1 32T 3

) AT AT 6 1 IR T IR HT 2 TSET Al (AT e &

ITITE & T & T /T T
3TATEA
X Y
X 20 90 90 200
Y 30 15 105 150
I{Tﬂ?ﬁ' 50 30

1) ST=rEhT Atee 7 Rateor w3 T ey it sgagrar & ow areag-githg it fuafa
T T |

2) I oL AT FHHM: 144 3T 72 THIEAT H qGAAN &, AT AR I G FLA o (70 Tedh &
T T ICATET FIT AT ATBT?

3) Ife IUsd Fo 9| 100 =< g, AT FAT THTLTT GAT S AAgH &7?

4) 7 AT &1 qT X150 § 7 ool JoF AT T IdqT M0

T.2 e FH I TRTC o IATET o (70T § 1 HeAT T START FLdAT gl ScAT T il TcAH
THS o AT § qget 7efi 9 3 =, gadt @efid u¥ 2 e S dadt 7efie ¥ e wer avar




gl SaTE &1 HT TUF TS & A0 § ggelt 7ol u% 4 =, gL 99fiT 9% uF "Her 7
T WeliTr U¥ 2 5 &I €, STateh IcaTE | hl T 1S o HH10T | gl J9fie 9¥ u¥ 2
He, T 7T 9% 3w oY ey qefiT 9% 3 = FT FHT AT g1 A1 IcATar i TRIETH
HTISI 9T X15, 30 3T 20 Wi IAe g1 T TefieT 9% Iurser 799 &7 87T FHLA 120,
80 3T 150 HUE T Bl

1) SYLIF THEAT 1 Tk I&F TUTTHT T F €9 § 937 o)

2) foeerr = Aeer fAfd 7 ST Fh gUEAT FT TEAW qHTIT AT FIoT| " gy i
STATET | & FIF A7 IcATaT IcAT(ad Al (3T SITUAT? 3 F1?

3) IULIH 9HET &7 o (dual) forfam)
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T 2@ g1 |9 SASIT o @0 &1 STIRT ¥ a9 U B9% 3% 9¢ 3T STaT g 3T T
foratie ot i IET aTg ATaT g S qaadl (ATHE FT ITANT ThAT ST T8T gl T Svael anrd
FT FH FLA o o1 AHTAT T Z¥ a1 AST FHLA AT A 0T HAT AT o0
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Write your Roll No. on the top immediately on receipt of this question paper.
Attempt any four questions out of the six questions given below.

All questions carry equal marks.

Answers may be written in English or Hindi but the same medium should be
followed throughout the paper.

While purchasing a computer system, both the hardware and software are purchased
together. Briefly explain how hardware and software are complementary to each
other? Also explain the points of difference between hardware and software.

“Operating system acts as a manager of various resources of a computer System”. Do
you agree with the statement? Explain your answer while explaining various functions
performed by operating system.

PQR Ltd. wishes to create a flexible computer network that is capable of adjusting for
any sudden temporary demand of additional computers in the network and then
reverting back to original scale According to you, which network topology should
PQR Ltd. use for setting the computer network? Compare the network topology that
you suggest to PQR Ltd. with other commonly used network topologies on the basis
of their merits and demerits along with the diagrams for these network topologies.

Compare client server computing architecture with peer-to-peer computing
architecture. Explain with the help of diagram.

Briefly explain different keys in relation with database management system. What is
the role of these keys in database systems?

According to you which data management system is better, traditional file system or
relational database model? What is the role of referential integrity in relational
database models of data management?



Unique Paper Code 1 22411403(0C)

Name of the Paper : Computers Applications in Business (BCH 4. 3)
Name of the Course : B. Com. (Hons)

Semester Y

Time : 3 Hours

Maximum Marks 125

Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.
Attempt any four questions out of the six questions given below.

All questions carry equal marks.

Answers may be written in English or Hindi but the same medium should be
followed throughout the paper.

© NG

T 1 Fex ffeed g@died 99 FEIIT UF HAIFeadY Il F 1T g Gl Srar

gl Hfer &7 ¥ 99T F 0 gEddy R dieddy Il UH-gEL & AqE
gId g2 AT B TEadY T Afedday § say #1 T8 F7|

T 2 At Feed uw wger Feed F w2 RAMs & #9993 w
FLAT &"— FAT AT TH FA9 § TgHA g2 A ffeew & fafss st w1 auw
FA U ATAT IAC L AT

T 3 diEgee fHde (PQRLtd.) TF THET dHIAT  (FATEA) Fged deds aard]
Ired & o T oft auw qead # afafs dogedd i seuwrfers @it @ #d
TU TSSEe g %l AT T@dr gl T S I S99 o &9 (original scale) #
T dle 6| A6 AT UH Fge? deas &l aard H PQR Ltd. FT HIA-HT Feae
STAAST AIAHT ATRT? T AT+ FT PQR Ltd. FT FATS T Aeas rarArsit i
TAAT 3T qeds AT § Hie0 S A 9¢ Y0 gt g1 9 [0 T &

T dead sl & FE g9fRd T w7

TT 4 FATUC RS Givbglrzil afFeFaT (Client server computing
architecture)® TAAT - Z-HI3T FA(ET fHeFaL (Peer-to-Peer
computing architecture) ¥ FHITSU| TART TAATHE STeAAT = THATUI




T 5 TTETEH Ja99 YTt (Database management system)aﬁ Hed # 3IUAMT
g arel At fe (Keys) &1 &fom foawr &) SeEd fed § =9 6w

(Keys) I FT a1 @dal § T
T 6 ATh ATETE K- STl Taed Tl dga¥ il - TRAE e

TUTet AT 9l Sered Higd? STe7 oo+ & (oeMe Seed "iedr §

TR FARET 1 FT g @ 8




Unique Paper Code : 22417601

Name of the Paper : Fundamentals of Investment Name of the
Course : B.Com. (Hons.)-CBCS

Semester : VI

Duration : 3 hours

Maximum Marks : 75 Marks

Instructions for Candidates Attempt any four questions. All
questions carry equal marks.

Q1. Mr. Sahir has approached you for professional advice on investment. He
has Rs. 50 Lakhs which he wishes to investment in stock market in the name of
his wife on the birthday falling due the next week. He is by nature risk averse,
he also tells you that he had wondered investing in NGC Company itself be a
good idea as it is quite profitable. While you agree with him on choice of NGC
Company, you suggest that by way of risk reduction, it would be prudent to
invest in RPL Company, an equally reputed oil marketing company. Mr. Sahir
desires to know from you specific answers to the following:

a) What would be the likely return and risk of the two stocks?

b) Out of the above two alternatives which would be least risky? Which
would you recommend and why?

¢) Also calculate coefficient of correlation between two stocks.

You have the following forecast of the future returns on the two stocks:

Condition Probability RPL Co. (%) NGC Co. (%)
Recession 0.3 10 6

Average 0.4 12 12

Good 0.2 20 20

Boom 0.1 22 24




.1, o AT e AT ATed 8 ST IH a9t qe1g o forw g9 AT g1 S eh O
50 M@ T g ST g I qHTg H T aTel JUAT TAT o STeA{a 92 AqAT T [ F 919 ¢
AT AT | AL FEAT ATET 21 Ivg ST T gl g 3T dg TqqTas & & ST Tal
AT ATEd 8, qE ATTH! Ag Y TaTd & T Irgiv ag UASiE F9=t § fFaer wa & forw g
T 3T T T AT § U =] (A=A g FFih Tg Fh ATHGTTE gl TS T TASHIET HawT
#T 6T T ITH AT ¢, qT T AT ad & o Tk FHH &9 F TA18d df @90 Hat
AHTUS FOt H 9T FEAT TR R 3T 98 AW AT FThT w7 g < 97fee s
fArferfera & fafers o=t &1 SIT=ET =T8T g0t

%) &1 LT T AATEAT ATIET 3T SITEH F4T gEIT?

F) SULIh T Tashedl & a1 | aqred S ¥ SITeH 937 gET? 3iY RF-97 7 T FHF SAIEH
T INT? AT Fohareht FRreRTTer shedr 3 #4172

) FT AT o AT TgEael o I[OTTeh sl TOET AT AL |

T 9T & A 9% e & e &1 Refied @i &

(wfdera) (sfrera)
Har 0.3 10 6
draq 0.4 12 12
=30 0.2 20 20
e 0.1 22 24

Q2. Explain credit rating. Do you think that high credit rating is a
recommendation to buy the bond?

Mr. Mahesh is considering purchase of a bond which is currently quoted at Rs.
910. The bond has a face value of Rs. 1000. It carries coupon rate of 11% and
has 5 years to maturity. Currently, the interest income is subject to 30% rate of
tax and capital gain is subject to 10% tax rate. Advice, Should Mr. Mahesh buy
this bond if his required rate of return is 10%. Also calculate YTM at current
market price.

W.2. Hise YT & GHATT U ATAT FiE| FAT AT 0T @ [ ai€ @diad & o 3g
Fiee < us e 82



AT Tg91 UF T Giiad uX A= #7 17 8 e sifeha gox aqu™ § 910 =99 ) Jive &f
% 97g 1000 FIU gl Tg 11 Traerd i Fo9 a2 /AT S1aT g 3T Ji€ sl 9dghar # 0 5
T gl TAHTT H, AT AT T sl 30TTTAT 3 6 T g 3T IS0 a1 10 T(9rd &7 a8
F AT g1 TATE <90, FAT o H29r &7 A A7 GEAT ATV WY I srutera (Ree &
AEFeTF) TX 10 TAT gl TAHATT TS o 9T ATSETH (7€ ) ol TUET ALl

Q.3 Explain how Candlestick Chart is used by technical analysts to predict
future behavior of prices.

The dividend on equity shares of ABC Co. is expected to grow at the rate of
12% for first 5 years and 10% thereafter forever. Investors have just received an
annual dividend of Rs.7 per share. The appropriate discount rate representing
equity shareholders expectation is 14%. Find out the value of the equity share.
If the current market price of the share is Rs. 220, Should investor buy the
share? Why?

¥.3. 790 O fiuat F 9fEsy F srage & aaeremf #7 F foro g hd fguet g

FeTeash AT T STANT i {3637 1T 2

TETHT AT % STl AT I ATAT Tgef 5 TUI o [T 12 T(a9rd ST S8 918 gHaT &
o 10 wfera f7 27 T Tz £ sHfie {1 Feest F1 ot 7 =03 wfy 97w v arfiw A
T 21 =t et i swiE w1 gfafA e we areht sta ge 37 14 afea 81 =fF
QT T I T IAqT AT ST AT HT HIS[ET ATehe TTeH 220 F99 g qT 47 {Haereh &l 4%
GIEHAT AT U? 3T F1?

Q4. Mr. Akshay has Rs. 5 lakhs which he wants to invest in equity shares of
Company A and Company B. The following are the expected return and risk of
shares of company A and company B

Expected Returns Standard Deviation
Company A 15% 10%
Company B 12% 6%

He finds that the correlation coefficient between the returns of Co. A and Co. B
is -1.
Mr. Akshay is considering the following portfolios



(i)  100% in company B

(i)  10% in company A and 90% in company B

(ili)  50% in company A and 50% in company B

(iv) 100% in company A
Advise him which portfolio is good if wants to (i) minimize risk (ii) maximize
return (iii) risk return trade-off.
Explain the role of diversification in portfolio.

T.4. 7T % ITH 5 AT FqT ¢ ST ag FHa+T U ¥ FHaeT of F Thephet 9 § Haer FedT 18
S| FAAT T ST FHOet &t o QA st sratera arawt (REH) s strfew aforfea g -

e fee T fa=ee
FIAT T 15 gfaera 109faeTa
FoAt ofF 12 gfaera 6 Ttaera

Srg AT & T el O Sl o1 % [ % d= qeeae o -1 2|
AT srer7 Aot e = W AR ©

(1) Fo=t Y F 100 wfFera

(2) Fot T 10 wfaera sfi¥ Fa+T &t 7 90 wfdera

(3) FOt W § 50 wiqera i Fua+T &t # 50 Afdera

(4) FO=T T H 100 Tiaera

SH AATE & T FIA-HT [Feer =T (TERITorET) =61 g 3R ATed & - (1) ST &l &7 HiAm
(2) srterray fee (3) s e 3= &

fRerer g=T (TERiteraT) § At fit s qa=m)

Q5 Explain Feasible, efficient and optimal portfolio.

You are evaluating various investment opportunities currently available and
details of five different well-diversified portfolios are as under:

Portfolios Expected Return (%) Standard Deviation (%)

7.8 10.5

R 18.6 14




S 4.6 5
T 21.7 185
U 16.2 7.5

It is further given that the risk free rate of return is 6% and unlimited borrowing
and lending is possible at this rate. The return and risk of market portfolio is
15% and 10%.Comment on the efficiency of the portfolios. Also calculate the
reward to variability ratio. Draw a rough sketch of CML to represent these

portfolios.

W.5. AR, T ¥ A Faer AT (TERTAT) it AT F:3)

AT T H IUAsy [ATHT Faer S| #7 eaiwd ¥ ¥ 8 3T I AAT-0el =]
g § fafay qrewmiferr & fear Remar go:

qrEwTTeraT FUTEra ara=T (%) TTF o= (%)
7 7.8 10.5

AT 18.6 14

e 4.6 5

f 21.7 185

T 16.2 7.5

AT 1Y ST &AT H9 e g1 ATSTE TIERITer AT &1 e o Sifem 15 Ifaerd sfie 10 Tiaerd gl
TIERIT AT il FAAT T2 AT [Eoquft §| |7 gF Taaaefierar Squrq & forT 9| &t ToET
T = Taer gt a1 A teea Fed & o HFuaue o1 uF T = (F6) a1

6. What do you mean by futures? Explain the factors determining price of future
contracts.

The equity shares of P Ltd. are being sold for Rs. 400. A 3-months call option
is available for a premium of Rs. 20 per share and a 3 months put option is
available for Rs. 15 per share. Find out net pay-off of put option holder and call
option holder given that the strike price in both the cases is Rs. 430 and the
share price on exercise day is Rs.390, Rs.420 or Rs. 460. Also find out break-
even point for both call option and put option.

W.6. AIAST (FET) & ATTHT FAT AAAd g? AEAST & TAILl hl Hidq (HEid Hed arel
FHTLHT %l ATEIT Fi<




t ferfies o et 997 400 €99 | 99 AT 72 €1 3 Al &7 el W 20 ¥99 T 09
AT & o0 Iqsd g A 3 AgIA & e AWM 15 99 Vi 997 & o7 394 gl I
AT BIeeT AT FlA AWM ZIee AT A€ U-3F AT o0, F7Th IF1 ATAAT § 21
TTSH 430 ®IF T TANT G (TFILETSST T) 9% AF¥ UTSH 390 €94, 420 ¥ AT 460 ¥ 2|
Tt AT T & AT TA1 o o7 Jh-29 qie AT gal
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used throughout the paper.

Attempt any four questions.

All questions carry equal marks.

Q1.“Auditing does not guarantee that accounts are true and fair in all respects”. Elucidate.

Q2.In what way do you think the recent regulations in the form of corporate funding of political

parties and class action will facilitate shareholder activism.

Q3.Suggest a structure of board of directors and board committees of a large-listed company as
per the SEBI (Listing Obligation and Disclosure Requirement) Regulations, 2015.

Q4.‘The management deceptively led all stakeholders to believe that the company was being run
superbly successfully while in reality it was being led to bankruptcy’. With reference to this

statement, write about the relevant corporate scam(s).

Q5.It always pays to be an ethical organization’. Justify this statement by highlighting benefits

of an ethical organization.

Q6.Give an account of CSR initiatives taken by any two Indian companies and state the
provisions of the Indian Companies Act, 2013 on CSR.
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